ENDGame - Test 1-1 Results
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ENDGame 4900 m, t = 12 days
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Figure 1: Latitude-Longitude cross section of tracer species after 12 days using
(a) SL interpolation and (b) SLICE.

[\



10000

8000

6000

4000

2000

Height (m)

10000

8000

6000

4000

2000

10000

8000

6000

4000

2000

Height (m)

10000

8000

6000

4000

2000

ENDGame, t = 12 days
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Figure 2: Longitude-Height cross section of tracer species after 12 days using

(a) SL interpolation and (b) SLICE.
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Figure 3: Correlation plots of ¢; and go after 6 days using (a) SL interpolation
and (b) SLICE.



